Mathematics

Lesson 7a Mathematics Skills

® Try the easiest items first.
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e Look for impertant words, numbers, and figures. They will help you
find the answer.

® Think about what you are supposed to do before you start working.
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w Lesson 72 Mathematics Skills

@) Nila rounded the number in the box to the nearest hundred thousand.
Andelmo rounded it to the nearest million.

2,689,123
What was the difference between their answers?
A 30
B 3000
C 30,000
D 300,000

(2] ;{5 x 10,000,000) + (9 x 100,000) + (2 x 100) + 1 \
| e

Which of these numbers equals the expression shown above?
F 50,900,201

G 59000201
H 5,900,201
J 50,090,201

9 What rule is Briclle using to change “Now” numbers to " Later” numbers?

Now 7 |18 | 30

Later |18 | 51 | 87

add 5, then multiply by 2

A
B subtract 2, then multiply by 3
C add 1, then multiply by 3

D

subtract 1, then multply by 3



V Lesson 7a Mathematics Skills
Going fo the Dogs

Directions: The praph shows the number of dogs registered with the American Kennel
Club in 1994 and 19%5. Study the graph. Then do numbers 4 through 6.

American Kennel Club Registration

Galden Retrigver
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Wumber of AKC registered dogs {in thousands)

€} A premium dog food company is shooting a commercial with a dog in it. If the
company wants to appeal to the largest number of pedigree dog owners, which
breed of dog should they use?

F  Labrador Retriever H German Shepherd
G Rottweler J  Gaolden Retriever

@ The number of American Kennel Club regisrered
Rottwellers in 1995 was

A less than 90,000

B between 90,000 and 100,000
C  between 100,000 and 110,000
D more than 110,000

The number of registered German Shepherds in 1995 was 78,088,

Look at points A, B, C, and D) on the graph. Which poeint indicates Sy
where a bar should be drawn to complete the graph? i
F DPoint A H FointC
G PointB J Point D

Answer rows & U000 B (FHE M
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V Lesson Ja Mathematics Skills

On The Boardw.alk

Directions: Wanda and her family enjoy walking along the hoardwalk.
Do Numbers 7 through 12 abour the boardwalk.
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Which of these is Ringo?

; Ringo runs
i thering toss &
. booth on the
i boardwalk.

-------------------------------

F $0.80
G $£2.50
H §3.25
J 8495

€} ach member of Wanda's family had ene hamburger for lunch. Each hamburger
costs $4.95. What else do vou need to know to find out how much the family spent
on lunch?

A which family member paid for lunch

B how many people are in the family

€ the price of hot dogs

D how much money Wanda’s father had in his waller
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V Lesson 7Ta Mathematics Skills

@ These signs are on the boardwalk. Which sign has no right angles?

|

Teddy
Bear

- Popcorn Crossing
F G H J

‘D The guide book for the boardwalk has a star that extends |
from the front cover to the back cover. How many points
are on the star when the book is open?

A 5
B &
C.: 7
D

) The amusements are located on a pier
off the boardwalk. Which road runs
parallel to the boardwalk?

F bteeplechase Avenue
G lerris Wheel Dirive

H Roller-Coaster Way
J

Merry-Go-Round Street

Ancwer rows 10 (1000
11 HE ENE




Mathematics

Lesson 7b Mathematics Skills

Before you mark your answer, check it one more time. Be sure you
understood the problem and how to solve it.

PERIMETERS, PLEASE

Directions: The table shows the perimerers of
squares with given side lengths. Study the table, | -Sn9tnof | Perimeter

Side of of
Then do Numbers 1 and 2. Square Square
1 4
€ What is the perimeter of a square with 2 a
A 5 L) 16
5 20
B 7.5
cC 10
D 125
“ 2in. -
9 What is the perimeter of the rectangle? 4
F 2 inches
1 im. 1 in.
G 3% inches
H 4% inches A= .
4 2! 2in. i
J 6 inches

a4 Answer rows S (25000 2 DO
1 EEEE



V Lesson Th Mathematics Skills

&) Which of these graphs best shows how the perimeter of a square is related to the
length of a side of the square?

A K ,?, B,
|
5 5 5 5
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Langth i Length = Length Length
A B C D

9 MNako is using nickels to
measure the area of a dollar
bill. About how many nickels

will it take to cover the
dollar bill?

F  about 50

'

~s; ':g

26

G aboutr 21
H about 18
J abous 10

(5 Sally and Susie together have
more money in their pigey banks

than Tom has in his. If Tom has
$35.00 and Suvsie has §17.00, then
Sally must have

A less than $17.00

B exactly $18.00

C between $17.00 and $18.00
D more than $318.00




V Lesson 7h Mathematics Skills

@ How many more ; :I- i s ‘ @ What is the average of 12, 7, and §?

glass balls are o (g ;1
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needed to fill "M“"’Ja A S

the box to the I‘?_j: - i""r.r B 8§ D 27
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F = ! "-.ﬂt___y} () IfCandD represent whaole

c S numbers, what symbol goes in the
hox to make this statement true?

H 24
IfC %D =12, then 121 C = D?

J 26
F 4 H =

'ﬁ Lizette makes cubes from blocks to G - J

display kitchen gadgets and cookware

in her store as shown helow. ‘D ¥hat 15 the rule for this number

How many blocks will she use to sequence?

make Display 62 5,11,29, 83,245, ...

A 3o A multiply by 3, then add 5

B G4 ) B rmultiply by 2, then add 1

C 125 Disqla? LJisgliwr Disglay C  multiply by 2, then add 7

D 216 D multiply by 3, then subtract 4

) Which of these numbers goes in the @ The number8is

box to make the number sentence

mes

larger than the number 0.0008.

true?
F 10 H 1000
] < 50.05
2oz G 16 < 10,000

F 5555

G 50.50

H 50005

J 5505

46 Answer rows B B 10 12



Lesson 70 Mathematics SkKills
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Divections: For Numbers 13 through 16, vou do not need to caleulate exact answers,

Use estimation to choose the best answer,

%) 100 x [ = 548

The number that goes in the box to make the number sentence true is

A less than =

B equalw3

C  between 5 and 6
D

greater than f

@ When the blocks are piled on the scale, how (

much weight will there be on the scale?
Fless chan 10 g

G  between 10 and 11 g

H herween 11 and 12 ¢
J

more than 12 ¢

424y 3355 2729

@' The Science Club designed and sold posteards for 29¢ each. The club sold 197

postcards. About how much money did the club receive?

A 550 C 3580
B 560 D salin

'@ Which of these is the best estimate of 921 + 92

F 10 H 10
G 90 J 0 900
Answer rows 13 15

14 16
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